ER 0105-1

1. woszemmLzs,

(1) 3y(4y +5)

(3) —3n(n+1)

(5) 2¢(—c—3)

(7) —3m(4m — 3)

D WOREEM LA S0,

(1) 2a(4a + 3b)

(3) m(m +n)

(5) 2z(4z — 3y)

(7) dx(—z + )

3. ROXZE B L7 S0,

(1) —2m(m +2)

(3) —3a(ba —2)

(5) 4b(4b + 5¢)

(7) 4z(—2z —2)

(9) 3z(—z —2y)

—~ BB 0105-1 -

(2) 2(2-1)

(4) z(4x —b)

(6) —b(5b — 4)

(8) 4a(—2a —1)

(2) —2m(m — 2n)

(4) —m(m +mn)

(6) 2m(2m — 5n)

(8) —3b(—3b + 4c)

(2) 2z(z +1)

(4) —2a(5a — 3b)

(6) —4p(2p + 5q)

(8) —n(bn —2)

— 13th-note —



. ROXZER LS,

(1) (a—1)

(3) (a+1)?

(5) (z+4)?

. ROXZER LS,

(1) (a+1)(a—2)

(3) (x+1)(x+3)

() (z=7)(x -2

(7) (z+4)(x—5)

(9) (x—7)(x+9)

. ROXZEB LS,

(1) (x+5)(x—5)

3) (x+1)(x—1)

. ROXZER LS,

(1) (y—2)(y+2)

(3) (y+4)(y+2)

(5) (a—6)(a+8)

—~ BB 0105-1 -

(2) (0—1)

(4) (y—16)°

(6) (a—1)?

(2) (x+5)(x—4)

(4) (b—2)(b—3)

(6) (a=3)(a+7)

(8) (y+7)(y+9)

(2) (x+4)(x—4)

(4) (x —2)(x+2)

(2) (6—-2)(b-3)

(4) (z—=8)(x—17)

(6) (z+2)?

— 13th-note —



10.

11.

. ROXZER LS,

(1) (2z+7)?

(3) (by —3)?

(5) (22 —5)

. ROXZER LS,

(1) (52 + 2)(5z — 4)

(3) (5b+1)(5b— 3)

(5) (52 — 4)(5z + 2)

(7) (2a+7)(2a +5)

(9) (22 + 5)(2z — 3)

WO % BB L7 S0,

1) (5z +1)(5z — 1)

(3) (bz +2)(5zx —2)

KON Z B L7 S0,

(1) 2y+3)(2y+7)

(3) (5b—3)2

(5) (5a —4)(ba + 2)

—~ BB 0105-1 -

(2) (3b+1)(3b+ 4)

(4) (3z +1)(3z — 5)

(6) (3b—2)(3b—1)

&) 2y+7)(2y+1)

(2) (22 — 1)(2z + 1)

(4) 2y—1)(2y+1)

2) (52 — 2)(5z + 1)

(4) (2b+5)2

(6) (5b— 2)(5b + 2)

— 13th-note —



12.

13.

WO % B L7 S0,

(1) m(m +5)

(3) z(z +2y)

(5) —3b(4b + 3)

WOXZE R L7230,

(1) (5z + 1)(5z — 1)

(3) 3z —2)(3xz —5)

(5) (2a +1)(2a + 3)

(7) (2z + 3)?

(9) (bx —4)(bx +1)

(11) (bx + 2)(bx — 3)

(13) (2y +1)?

(15) (ba —1)(ba + 1)

(17) 3z — 1)(3z + 4)

(19) (bz —4)(5z — 2)

—~ BB 0105-1 -

(2) —3x(bxr —4)

(4) —2a(—4a + 5b)

2) (5a+2)(5a+ 1)

(4) (22 —5)(2x +7)

(6) (52 —1)(5z + 3)

(8) (3b+5)2

(10) (5b+ 3)?

(12) (52 — 4)(5z + 4)

(14) (3b+2)?

(16) (22 +7)(2x — 5)

(18) (2z +5)(2x —5)

(20) (2z — 3)?

— 13th-note —



14, woszmmLrso,

o (+2) (4]

—~ BB 0105-1 -

-+ 1) )

(12) <2x - %)2

(14) (36— %) (3b+1)

(20) (26— 1) (2b - %)

— 13th-note —
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ER 0105-1

1. woszemmLzs,

(1) 3y4y +5) 12y* 4+ 15y

3) —3n(n+1) —3n? — 3n

(5) 2¢(—c—3) —2c? — 6¢

(7) —3m(4m —3) —12m? + 9m

2. ROXZE P L72 S0y,

(1) 2a(4a +30) 8a? + 6ab
3) m(m+n) m? + mn

(5) 2z(4z — 3y) 8x? — 6xyY
(7) da(—z+y) —4x? + 4y

3. RON % BB L7 S0,

(1) —2m(m+2) —2m? — 4m
(3) —3a(5a—2) —15a? + 6a
(5) 4b(4b+ 5¢) 16b% + 20bc
(7) 4z(—2 —2) —4z% — 82

(9) 3x(—z — 2y) —3x? — 6xy

2) 2(:—1) 22 — 2

(4) 2(4z —5) 4x* — bx
(6) —b(5b—4) —BHb* + 4b

®) 4a(-2a—1) —8a? — 4a

2) —2m(m —2n) —2m? + 4mn
4) —m(m+n) —mM2 — mn

6) 2m(2m —5n) 4m? — 10mn

(8) —3b(—3b+ 4¢) 9b? — 12bc

2) 22(z+1) 2x% + 2x
(4) —2a(5a —3b) —10a? + 6ab
(6) —4p(2p+5¢) —8p? — 20pgq

®) —n(n—2) —bn? + 2n

— 13th-note —



4.

b.

6.

[

—~ BB 0105-1 -

WO % B L7 S0,

1) @-12 =a®>—2a+1
3) a+r1)? =a®+2a+1
5) (x+4)? = x* + 8 + 16

WORE BRI L7 S0,
(1) (a+De-2) = a”“ —a — 2
@) @+ D@+3) =x®>+4x + 3
5) (z—T)(z—-2) = x? — 9z + 14
() @+ 4)@z—5 = x? —x — 20

©) (z-T)(z+9) = x*+ 2 — 63

ROXZ B L7 S0y,

(1) (z+5)(x—5b) = x? — 25
@) @+1)z-1) =x? —1

KON Z B L7 S0,

1) w-2y+2) = y?> — 4
3) w+yw+2) = y?+ 6y + 8

(5) (a—6)(a+8) = a®*+ 2a — 48

2 b-12 =b*>—2b+1
(1) (y-6? = y* — 12y + 36

©6) a—-1? =a®—2a+1

2) @+5) -4 =x*+x — 20
4 b-2)b-3) = b* —5b+ 6

6) (a—3)(a+7) = a®+ 4a — 21

8) +7y+9 = y?+ 16y + 63

2) c+4)@z—4) = x? — 16

4) @-2@+2) =x?—4

2 b-2)b-3) = b* —5b+ 6
4) z-8)(x-7 = x? — 15x + 56

6) x+2? =x*+4x + 4

— 13th-note —



8.

9.

10.

11.

—~ BB 0105-1 -
WO % B L7 S0,

(1) z+7)? = 4x? + 28x + 49 2) 2b—372 = 4b* — 12b+ 9
(3) (5y-3? = 25y*> — 30y + 9 (4) (2y-3? =4y — 12y + 9
(5) 22 -5 = 4x? — 20x + 25 ©6) 2a—7)?2 = 4a® — 28a + 49

ROXZE P L72 S0y,

(1) Ge+2)(5e—4) = 2bx? — 10 — 8 (2) B+ 1)Bv+4) = 9b* + 15b + 4
3) Gb+1)(50—3) = 25b% — 10b — 3 (4) Bz +1)Bz-5) = 9x% — 122 — 5
(5) Gz —4)(5x+2) = 26x? — 10 — 8 (6) (3b—2)36—1) = 9b* — 9b + 2
(7) (2a+7)(2a+5 = 4a? +24a + 35 8) @y+7)2y+1) = 4y? + 16y + 7

9) 2z +5)2c —3) = 4x? + 4 — 15

KOREER LS,
1) Ge+ 1)z —1) = 2522 — 1 2) 2z —1@2r+1) = 4x? — 1
(3) (5z+2)(50 —2) = 25x? — 4 @) 2y-D(2y+1) =4y? —1
RORAEBH LA S,

(1) 2y+3)2y+7) = 4y? + 20y + 21 ) Gz-2)(5z+1) = 25x? — b — 2
3) (5b—3)2 = 25b%> — 30b+ 9 4) (2b+5)2 = 4b% + 20b + 25

(5) Ga—4)(a+2) = 25a* — 10a — 8 (6) (50—2)(5b+2) = 25b%b — 4

— 13th-note —



12.

13.

—~ BB 0105-1 -

ROAXZ BRI L7 S0,
(1) m(m+5) M2+ 5m 2) —3z(52 —4) —15x% + 122
3) z(z+2y) 2 + 2xY (4) —2a(—4a +5b) 8a? — 10ab

(5) —3b(4b+3) —12b% — 9b

WOXZE R L7230,

1) Ge+1)z—1) = 2522 — 1 2) Ga+2)(a+1) = 25a? + 15a + 2
3) Bz—2)Br—5 = 92?2 — 21z + 10 @) 2z-5@c+7 = 4x* + 4 — 35
5) 2a+1)2a+3) =4a? +8a+3 (6) Gz—1)(52+3) = 25x? + 10z — 3
(7) 2z +3)? = 4dx® + 12 + 9 ®) 3b+5?2 = 9b% + 30b + 25

9) Gr—4)(Gz+1) = 25x% — 152 — 4 (10) (5b+3)> = 25b% + 30b + 9

(11) (5z +2)(z —3) = 25x? — b — 6 (12) bz — )5z +4) = 25x? — 16

(13) (2y+1)? = 4y? + 4y + 1 (14) (3b+2)2 = 9b% + 12b + 4

(15) (5a — D(Ga+1) = 25a? — 1 (16) (22 +7)(2z —5) = 4x* + 42 — 35
(17) Bz —DBz+4) = 922 + 92 — 4 (18) 2z +5)(2z -5 = 4x? — 25

(19) (52 —4)(52—2) = 2bx? — 30x + 8 (20) (22 -3 = 4x? — 122 + 9

— 13th-note —



—~ BB 0105-1 -

14, woszmmLrso,

W (+2) 6+ D) =pr 43+ @ e+ 1) o+ D) =2t et T

Dl = Ban S Gl —aar ]
G b+ ) (p-1) =02~ b - 134 ® (b- 1)+ :b2—%b—%
(7) (b—%>(b+2) :b2+%b—% (8) (,H%) (x_%> :wz_1_96

0 (D) (-3) = Sar o (a)(erd) = raes T

1 2 _ 2 l 1 2 _ 2_i l
(11) <3b—§> = 9b> — 2b+ (12) <2x—§) =da® — Sa+
(13) (52 - %) (50— 1) (14) (36— %) (3b+1) = 9b2 — 4b — %
175 49
_o5p2 _ 100 49
T T
(15) (y+2)° = 16y* + 16y + 4 16) (10— 2)" = 162? — 10z + 2>
4 16
(17) (2x+%>2 = 4x? + %w—|— % (18) <2x—%) (2x —4)
= 4x? — Qw—l— 4
5 5
(19) (3:1:—%) (3z —1) (20) (2b—1) (26—%) —apr - My T
—9w2—£a}—|—1 ’ !
B 4 4

— 13th-note —



